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1 UNIX OOOO0O0OO0O
1.1 FORTRAN 0O0OO0OO0OO0O0O0O0O0OO0ODO
00000000 FORTRANODOOOOOOOOOOODOO0D0O00O000
e ‘read(*, )” 00D00D0O0D0O0DOOOOOOOOOOOO
e “write(*, )’ 000000000000 0D0O0D0O0D0O0DODOOO
D000000000000000000

*mean.f —— 0000000000 0OO0O0OO0OOOOO FORTRAN ODOOOO
program mean
real a,b
read(*x,*) a,b
write(*,x) (a+b)/2, sqrt(a * b)
end
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waltz11Y, nemacs mean.f

«— mnemacs 0 “mean.f” 00O 00O
waltz11), £770 mean.f «— 7700 “mean.f” 00000000 “mean” OO OO
waltz11Y, mean — “‘mean” OO OOOO
23 — 23000
2.50000000 2.44948983
waltz11
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‘read(x, )’ 0 " 00000O0COOOOOCOODOCOO
“write(x, )70 ¥ 00000000 OO0OOOOOOO
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1.2 0O000O0oood

googgooobooooobooobuoooboooboboooboboobbooobboooo
gobbooobbboooobboooobobooon

e 000 >»U00OO0OUDOO” OUUODUODDUUDOUDODUDODODUODUOODOODOOO
gobbooooboboooooo

e ‘1000 < 0ID0ODODODOO” DDODDUDODODDODOODODODDOODOOOOODOOO
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cal 1995 > cal.out

0000 “al.out” 00000D0000000D00000000 1990000000000
000000000000000000000000000000000000000 (redirec-
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0000000000000000000000

waltz11% mean > datal
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waltz11% mean < datal
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00000000 “progl” OOODOOO0OOODODODODOUODOOODOUODOOOOOODOODOO
000000 “prog2” 00D UOU0DOUOUODODOUOUODDOOUOODDUOUDDODOOO

progl > data
prog2 < data

0000000 “data” 00000000 DOOCOOOOODOOOODOOOOOODOOOOOO
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cat input-data | mean
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*» sum2.f - 0000000000 0O0000 myfile DOO0O0O
program sum?2
real a,b
open(1,FILE="myfile’)
read(*,*) a,b
write(1,*) atb
close(1)
end

000000000000 00000D00000 “‘myfile” 0O0O00DOO0OOO0OOODOOOOOO
000 (0000000000000 00000000)000000 “open(l,FILE="myfile’)”
0 “myfile’ 0000000000000 000 10000000000 “write(1,%) atb”
000 1000000000000000D00 “clese(1)” 000 100D0DOODOCOOCOO
HEN
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waltz11), getsample

waltz11% 1ls

waltz11), £770 transi.f

waltz11), cat rasen.data | mgraph | xplot

waltz11l), cat rasen.data | transl | mgraph | xplot

waltz11), cat rasen.data | transl | transl | mgraph | xplot
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